V.

. What stages are these countries in?

Have humans reachec carrymgcapaaty

. What is the difference between sustainable and

renewable?

. Why would access to public transportation have

a greater impact than planting a few trees?

. During which stage do children become a

choice?
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Demographic Transition Model
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Logistics
* PROJECT IS DUE ON BLOCK
DAYS NEXT WEEK; it must

be done and ready to
present at the start of class



Unit 3 Assessment

* Take assessment
* When finished sit quietly in seat



Unit 3 Assessment
2 minutes to cram



Unit 3 Assessment

* PUT EVERYTHING AWAY




Questions?

* Ask now or forever wonder on
your assessment




Unit 3 Assessment

* When you are done:

* Make two piles on the front desk:
* Answer sheets
Question packets

* Sit quietly NO CELL PHONES




